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Test 1 (B)

Question 1. (10 marks.) Solve for x in the following equations:
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~ Question 2 (5 marks.) The first side of a triangle is 4cm lonoger than the base of the triangle. The
second side is 3cm longer than the first side. If the perimeter is 26cm find the length of each side.
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Question 3. (4 marks.) Solve for R; in the following:
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Question 4. (10 marks.) Solve the following linear inequalities. Give the solution graph and
solution set (indicate which is which). ' :
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uestion 5. (7 marks.)
(a) Find the slope-intercept form of the equation of the line that passes through the point (6,4) and

parallel to the line 10x = 2y 52. -
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J/ (b) State whether the slopes of the following lines are positive, negative, zero or undefined.
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Question 6. (4 marks.) Use the intercepts (indicate which is which) to gr?ph the line 7x—2y = —14
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Question 7. (7 marks.) In a certain city the taxi fare for a 6km trip is $13 and $20 for a 10km trip.
(a) Express the fare y in a linear equation with a distance of the trip in km, x.
(b) What is the starting charge of the taxi fare? (

Y2y (G413 ( y=(10,20
(c) How far can someone travel for $46.257 4 ¢ ) ) ¥z, F=J <oy B
&7 Mmo= ﬁl“%; _ D‘)B - i) S:W‘X’Lb =
Pz~ /o—»(p "{

2o = %—(towb => Zo*}zf-rb
= 15 o - £O w ) = 5‘_‘}"'.
> _ti?m%m 2h =D .‘T{.‘ b = 2%
- - g" inw-é"” @, ' ‘

D) x=o = g=2.56 2 THE Seemnic e maee s §7.50
Y . o |
) 1e285= 35 31050 = H4.25-2.50= (.95
3.5 = (95
e m&.:f: s

X = 7 47“’ K L Soeoenss” Cooes TILAVEL Foe 25k

/ Question 8. (5 marks.) Given that the lines 7x+ 3y =17 and kx — 2y = 13 are perpendxcﬁ]ar find &
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d Questlon 9. (6 marks.) Graph —8x+3y-+16 >0
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‘Question 10. (5 marks.)
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(a) Plot the points (—3,—1), (1,—1), (1,2), (—3,5) on the rectangular coordinate system.
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(b) Find the area of the object whose corners are the points above.
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v Question 11. (5 marks.) Solve the following system to ﬁﬁd the point of intersection of the lines:
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Question 12. (5 marks.) A bank teller has $1420 in ten and twenty dollar bills. Using linear
equations, find the number of tens and twenty dollar bills he has if he has 109 bills in total.
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- Question 13. (5 marks.) Find each angle.
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